1.

RETFAN B& #E o1

ROFIAIZEZ L. (S50, A1 15, Bik14740%, C#k24320% )
(1) 1%m H kg TH 2 ROHEDH 2. (2) 2L\ 1%@@%{@&5%6
ZDRDEEDY 6kgdd 5 LA m 1278 % D>, Z DR 1L D FE S 1A kg,
3) 18 (»A) & 3%@@%. (4) 5%1; 753‘%13@%@@75%5
2%%1‘@@ ka». ZOLE ImP O E X 13l t 2o,
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2.

(1)

(3)

ROMIGIZEZ K. (SH14, A1 30%, Bik24r, C#24740% )

1 3 Q%czm DEEDH 5. (2) Z%mL DX DS dg OWHED D 2.
ZD#EDI25g B B LAl em 1IZ72 5D, Z DR 1g DR IZA] mL 2>

LT (X A) Ci%kgf‘% 3. 4) avry—rti Q%t B %m%% 5.
z%mim ke, av ) — b IO E X I ¢ Do)
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RETFAM E§ B8 01 RERSH

ROFIAIZEZ L. (S50, A1 15, Bik14740%, C#k24320% )

* 1,2,3, - TEZ5.
Hifz, HEDOWBEIZ1IZOWTEZS E L.

(1) 1%m H kg TH 2 RDOHEDH 2. (2) 2L\ %kg@%ﬁz{m%‘%a
ZDRDEEDY 6kgdd 5 LA m 1278 %2>, Z DR 1L D FE S 1A kg,
1. _ _ 13
12m = 1lkg 2L = 15kg
?m = 6kg < x6 1L = ?kg — 2
1fmx6=—9m &z 1%kg+2: %kg 33
(3) 18 (»A) & 3%@@%5. (4) %t 7b§%m3“6% 2EEDH B,
2%,%31@ ko>, ZOLJE ImP O E X ¢ B>
B _ a3 1, 3 3
18 = 34kg ) 3t = 4m
2w _ o 2 2¢ — 13 .3
228 = ?kg “x 22 2t = 1m “+2
3%kg x 2% —okg B 5L % 7l mxz
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2. ROMWIZEZX. (SHk149, Ak17330%, B2, Cik2440% )

) 1g# Q%c:m DEED D 5.
ZDEHED 25g d B Al cm 1272 B D>

2

lg = 2€cm
25g = ?cm — x 25

2%0111 x 25 =60cm &FZX

(3) 1T (XA) ci%kgma 3.
4%}%@@ ke,
_ 3

1 = 3 kg

1e _ o, 1
4 5 T = ?kg — x4 i

3 1 _51 e 3

(2)

(4)

2%mL DR X P dg DWHEDH 3.

Z DR 1g DR IZA] mL 2>

2%H1L = 4g

?7L = lg

ay Y — i Q%t o %msw%.

2y 7V —F 1ImPDOEI It 2.

1 3
02 1+
5t 5
1
2t = 1m° — - 1X
m 5
2%t+1%:2lt =3
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